(popMYyJIbI COKPOILIIEHHOTO
YMHOKEHUS




KBaapar cyMmbI

(a+b)?=a’+2ab+b?

(2a+3b)?=(2a)?+2*2a*3b+
+(3b)?=4a°+ 12ab+9b?



KBaapar pasHocTH

(a-b)?=a’-2ab+b?

(3a-5b)?=(3a)?-2*3a*5b+
+(5b)%=9a4-30ab+25b?



Pa3HOCTH KBaJAparoB

a’ b*=(a+b)*(a-b)
9a%-16b°=(3a)?-(4b)*=
=(3a-4b)(3a+4Db)



KYy0 CyMMBbI

(a+b)’*=a’+3a“b+3ab?+b°
(a+2b)’=a>+3*a**2b*+3*a*

*(2b)?+(2b)*=a°+6a°b+12a
b%+8b*>



Ky0 pasHoOCTH

(a-b)*=a>-3a’b+3ab?*-b’

(2a-b)°=(2a)3-3*(2a)**b?-b°=
=8a°-12a’b+6ab?-b’



CyMMa KyO0oB

a’+b’=(a+b)(a*-ab+b?)
5°+(2b)°=(5+2b)(5%-5*2b+
+(2b)?)=(5+2)(25-10b+4b?)



Pa3HOCTH KY0OB

a’-b°=(a-b)(a*+ab+b?)
(4a)°-2°=(4a-2)((4a)*+4a*
*2+2%)=(4a-2)(16a%+8a+4)



